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INSTRUCTIONS TO CANDIDATES

- The Question Paper will be given in the form of a Question Booklet. There will be four

versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklat Alpha Code will be printed on the left margin of the facing sheet
of the Question Enul-:lat'.p oo 8

The Cuestion Booklet Alpha Code allotted to you will be noted in your seati sition in
the Examination Hall. 4 el

If you get a Question Booklat where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklat Serial Number is printed on the top right in of the facing sheet, If your
Question Booklet is un-numbered, plaase get it raplaced by new Question at with same

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to stant answering,

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to himher contains all the 100 questions in serial order, The
wwamﬁmw?meWHWEm
10 the notice nvigi it replaced by a booklet with same Alpha
This is most important. & L
Question Serial No. 1 to 70 are printed both in English and in Kannada. Doubts
regarding the meaning and translation of Question Serial No. 1 to 70 will be settled
based on the Questions in English.

Tw:thnh pages are provided baefore the last page of this Question Paper for rough
W0

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four cholces (I?'JELB}' (C) and (D) having one corract answer.
Choose the correct answer and darken the le corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet,

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his'her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict liance of instructions is essential. Any malpractice or attempt 1o commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. Two statements are given below :
i. Aurangazeb banished singing in his court,
. Largest number of books on Indian classical music were written during
Aurangazeb's reign.
Considering the above statements, which of the following is comect 7
A) Both i and ii are true B} Only i is true
C) Both i and ii are wrong D) Only ii is true

2. Many musicians and singers had adorned the court of Swathi Thirunal. Find the
odd man in the following.

A} Subbukkutty Ayya B) Alagiri Naidu
C) Sivanandan D) Vativelu
3. Who is elected as the President of the Volleyball Federation of India 7
A) Rajkumar B) Jagan Mohan Rao
C) Adille Sumariwalla D) Achyutha Samanta

4. Among the following which statement is historically wrong 7
A) K. P. Kesava Menon was a leader of Home Rule League.
B) In the election to the Central Legislative Assembly held in 1934, Muhammed
\ Abdurahiman won by defeating the Muslim League candidate.
C) Mannath Krishnan Nair was the leader of the movement for tenancy reform.
D) J. M. Sen Gupta was the President of the fifth All Kerala Palitical Conference.

5. Match List - | with List - Il and choose the answer from the codes given below

List -1 List =1l

a. Fardoonji Murzb i. Jam-e Jamshad

b. P. M. Maotiwala ii. Bangbasi

c. Babu Jogendranath Bose ili. Bombay Samachar

d. Dayal Singh Majeetiya iv. The Tribune
Codes :

a b c d

A) i iv i i

B) i i i iv

C) il i ii v

D} iv i i i

6. Who preceded Yuri Andropov as the leader in the Government of U.S.S5.R. 7

A} Nikita Khrushchew B) Konstantin Chernanko
) Leonid Brezhnev D} Mikhail Gorbachev

A 5.
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7. Arrange the following into correct chronological order and select the right answer
from the codas given below :
i. Bathune School, Culcutta
ii. Madras University
iii. Sanskrit College at Varanasi
. Gifls' School in Pune (founded by Phule couples)

Codes :
Ay v i i i
B) i il it v
cy i i iv ii
e R i i

8. Among the following which statement is historically wrong ?
A) Ayya Vaikunta consecrated a mirror as deity in a temple.
B) The Madras Govemnor Charles Trevelyan had persuaded the authorities in
Travancore to give the right for all women to wear upper clothes.
C) Pandit Karuppan was nominated to the Cochin Legislative Council.
D) Sahodaran Ayyappan was a member in the Sri Moolam Praja Sabha.

9. Match List — | with List - Il and choose the answer from the codes given below

List=1 List-1l
(Author) (Work)
a. Ramavarma Parikshit Thampuran i. Panathinte Kadha
b. Manavikrama Ettan Thampuran ii. Ambarishachantha
¢. K. S. Lakshmana Panikkar iii. Lakshmi Kalyana
d. K. Kesava Pillai iv. Prathyakshasariram
Codes
a b c d
A) i i [ v
B) i i ii v
C) i i v i
D)y W [ iv

10. Among the following who was not a signatory of the ‘Abraham Accord' ?
A) Benjamin Methanyahu
B) Abdullatif bin Rashid al-Zayni
C) Abdullah bin Zayid
D) Donald Trump




127/22 - K

7. BeNERIWED TOnG memdsad Sabiecs, S Dadoed odEnvod docins
M) 5034 =Rab:
i. dpae =, Ty
ii. ST L smmuch
ili. zeomRAch :fcli)e! oD
iv. et metod e (P dominved muktecd
zodeEnivh :
N, i e
B) i it i iv
C) i i iv i
D) 15 e esglamip
. YT WeoBndd, cIRTTh wHbIEmA Smnd 7
A) escty Fsbos waith teoth ﬁ{amd;t decinh @@mdd&.
B) Som nSsro’ oty ooy am Silwobne dheeic SEpdE gombs =)
R R ET R0 HY womon sorsladaci.
C) Zole sthafiy oSk deuly momi xuint mabadiersgiacnnty.
D) mEeeios Lcay soth emnes S ARl b atrterliadstl

\ ﬂ.g_:—l ;i;: m.a— Il Seobinl @TrReha, ¥ Ledmdd Botedrivar Hocing ..rugr:u';fa": t:!ci:in
nREn

= —1 a0
(Seslz) (33)
a. ThEbEbe Toedsr FogRos i. Tradosd oo
b. SRdagoy T fogos ii. S0tOezIon
C. & oF. v & r..jzd-gn' lii. wg ¢ Hem oo
d. ¥ demis 2 iv. =3 #=bech
Hodegnieh :
a b c d
Ay 0 i i v
B) i il il iv
C) i i iv i
D) Wi i i iv

10. d9nEStd cdnoh 'wREo L' Tk Tigdy ?

A) vlotacar HEmEs

B) wryerolday o ohe* wo-UR
C) R0y W TR olonr

D) Bame wosr



14

12.

13.

14,

15.

16.

1.8

18.

19.

127122 - K

Which of the following rock is called primary rocks ?
A) Metamorphic rocks B) Sedimentary rocks
C) Igneous rocks D) Stratified rocks

A line representing points of equal amounts of cloud cover
A) Isohyet B) lsoneph C) Isohaline D) Isohume

Which of the following wind is seasonal wind 7
A) Trade winds B) Westerlies C) Monsoon D) Easterlies

Which of the following statement is/are correct about the Himalayas of India ?
i. The Himalayas are geclogically young and structurally fold mountains.

ii. Shiwalik is the outer-most range of the Himalayas.

iii. Mt. Everest is located in the Shiwalik.

A) Only ii and iii B) Onlyiand ii

C) Only i and iii D) All of the above (i, i and iii)

Which of the following river is not a east flowing of Kerala ?
A) Kabani B) Bhavani C) Periyar D) Pambar

NMNP at Factor Cost is equal to

A) GNP at Market Price — Depreciation
B) GNP at Factor Cost — Depreciation
C) GDP at Market Price + NFIA

D) GDP at Factor Cost + NFIA

The Planning Commission of India was constituted in the year
A) 1947 B) 1951 C) 1950 D) 1956

Which Five Year Plan adopted the Mahalanobis model for the investment pattern in
India 7

A) First Five Year Plan B) Second Five Year Plan

C) Third Five Year Plan D) Fourth Five Year Plan

What is Bank Rate 7
A) Itis the rate of interest charged by banks against their loans
B) It is the rate of interest given by banks against the deposits received
C) Itis the portion of the deposits that banks are required to maintain with the RBI
D} It is the re-discounting rate that RBI extends to banks against securities
=B
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Which Article of the Indian Constitution allocates legislative powers, including taxation,
between the Parliament and the State Legislature 7

A) Article 246 B) Article 265

C) Article 280 D) Aricle 285

Which of the following Schedule contains provisions relating to disqualification of
the members of Parliament and State Legislatures on the ground of defection 7

A) Tenth Schedule B) Fourth Schedule

C) Sixth Schedule D) Eighth Schedule

When the President of India decides not to take any action on the Bill passed by the
two Houses of Legislature, it is known as

A) Absolute Veto B) Suspensive Veto

C) Pocket Veto D) Qualified Veto

The Headquarters of Northern Zonal Council is situated at
A) Shimla B) New Delhi C) Chandigarh D) Jaipur

Which of the following Fundamental Right is available to both citizens and foreigners 7
A) Prohibition of discrimination on grounds of religion, race, caste, sex or place of birth
B) Equality of opportunity in matters of public employment

C) Right of minorities to establish and administer educational institutions

D) Equality before law and equal protection of laws

Which of the following cannot be included in the category of writs 7

A) Injunction B) Habeas Corpus

C) Prohibition D) Quo Warranto

Central Vigilance Commission was established in the year

A) 1962 B) 1963 C) 1964 D) 1967
The procedure for Amendment of Indian Constitution is described in which Article 7
A) Article 368 B) Article 365

C) Anricle 367 D) Article 369

Collective responsibility is afeatureof ____ system of Government.
A) Presidential System B) Unitary System

C) Federal System D) Parliamentary System

Whao is the Ex officio Chairman of Council of States in India ?

A) The President of India B) Vice-President of India

C) Speaker D) Deputy Chairman

8-
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30. Who described Prime Minister of India as Primus Inter Pares (First Among Equals) 7

31.

37.

39.

40.

41.

A) Lord Morley
C) H. J. Laski

The word ‘gambit’ is associated with

A) Hockey

B) Chess

B} Herbert Marrison
D) Jennings

C) Baskstball

The pen-name of the Malayalam writer T. C. Joseph is

A) Edappally

B) Edassery

C) Ekalavyan

D) Volleyball

D) Edamaruku

The official mascot of the 2022 Winter Olympics Bing Dwen Dwen is a

A) Panda Bear

B) White Tiger

C) Wolf

Appunni is a character in M. T. Vasudevan Nair's novel

A) Kaalam

B) Maalukettu

The 2018 Asian Games was held in

A) Manila

B) Doha

C) Randamoozham

C) Jakarta

Ajayan is the central character in Adoor Gopalakrishnan's film

A) Mukhamukham

G. Aravindan's film
A) Chidambaram

B) Kodiyettam

C) Vidheyan

D) Raccoon

D) Asuravithu

D) Bangkok

D) Anantaram

won the Mational Film Award in 1985.

B) Pokkuveyil

C) Thampu

The President's Trophy Boat Race is associated with the

A) Vellayani
C) Ashtamudi

Charreriais a
A) Mexican

Sarah Joseph won the Muttathu Varkey Award for her collection of short stories

titled
A) Othappu

B) Punnamada
D) Veeranpuzha

D) Uttarayanam

Lake.

sport that involves talented horsemanship.

B) Italian

B) Aathi

C) Indian

C) Mattathi

D) Chinese

D} Papathara

In which category of computer memory that a FLASH MEMORY belongs to 7

A} EEPROM

B) SRAM

A0

C) DRAM

D) SDRAM

-
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Which of the following is not a system software ?

A) Programming Language Translator B) Operating Systam
C) Spreadsheet Software D) Device Driver

Which network device is used to connect two computer networks that use different
protocols ?

A) Router B) Gateway

C) Bridge D) None of the above

The HTML tag used to insert a picture in an HTML page is _
A) <img> tag B) <pic> tag C) <fig= tag D) <drw= tag
In which year the Information Technology Act was came into force in India 7

A) 2005 B) 2002 C) 2008 D) 2000

Amartya Kumar Sen was awarded Nobel Prize in the year 1998 for his contributions

in the field of

A) Literature B) Peace

C) Physics D) None of the above
The Mational Remote Sensing Centre (NRSC) of ISRO is situated in
A) Ahmedabad B) Hyderabad

C) Sriharikota D) Thiruvananthapuram

Where in India the first nuclear power plant was built 7
A) Tamil Nadu B} Maharashtra C) Karnataka D) Uttar Pradesh

Which of the following statements is/are correct about Greenhouse gases effect ?
i. Nitrous oxide is a greanhouse gas.

ii. Carbon dioxide is a greenhouse gas.

ii. Methane is a greenhouse gas.

A) Only the statement il B) Statements i and ii only
C) Statements ii and iii only D) All the statements i, ii and iii

How many States in India are traversed by the Western Ghats 7
A) 4 B) 5 C)6 D)y 7

Sum of first 30 terms of the Arithmetic Sequence 6, 12, 18, ...., is 2790. Then, the
sum of first 30 terms of the Arithmetic Sequence 13, 19, 25, ... is

A) 3000 B) 2900 C) 3390 0) 3190
g9
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42, SININYE IR tel A% e o’ encbgoy ?

A} TR o T e iR denis’ B) waideulon' Az
C) :ii;p'&m' e Heor D) &g d =0
43, Qg dRndemRe LYDE U TIRA LT mRuTanvi STt cRT Mo
m@‘m teitenrozd 7
A) ﬁ.ﬁw B) r?eb."m
C) wer D) shednshrive cansie ey,
44. HTML grisponiod v.omh Eas deoman witomss HTML
A) <img= tag B) «<pic>tag C) <fig> tag D) <drw> tag
45. 1RU30E RS SNF SRk Fodm mokd mor wedh 7
A} 2005 B) 2002 C) 2008 D) 2000
46, vamruaRT Seresmon_ deicd eacderinemn 198804 drnedor
ey Remoucio.
A) miz B) mok
C) yhama, D) Sedagindd cingins vy
47. ISROT g rod drtmis esecm dectd (NRSC) a ddrizcac,
A) eI B) Zomwme
C) aexiodmen: D) achamosioe
48. tROUSDY, Tpeb wross REoSE o RacFRo o ?
A) Zlodmmn B) sz, C) fmrue D) smgomde

49, ®a000 oo FomREaneT Aorohinod & fUh ﬂmﬂﬁgm@m nbcinhdf= 7
i Gt e o poth @At ehomhog,
i. Bwre et @ Lot @ucthabd enomhoazd,

jil. sogi Sudels eRomhos

A) Beedii Sng B) @ewdi il Ing

C) Beedii ayili Sng D) sheds Seofirieni, il 2 iii cump
50. mmg@mwa%mm%mm Erertgs 7

A) 4 B) 5 C) 6 D)7

51. 6,12,18, ..., Leri eogrieddect derdod dpow 30 Tund Segs) 2790 ehdsd mmod
13, 19, 25 - tacenieddects Berdol drte 30 TV 3839
A) 3000 B) 2900 C) 3380 D) 3180

A 13-
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52.

53.

54.

55.

a7.

58.

59,

Sekhar lost 6% by selling his motorcycle for Rs. 66,411, At what price should he
sold to get a profit of 6% ?
A) Rs. 68,427 B) Rs. 74,200 C) Rs. 74 889 D) Rs. 73,427

Salaries of Asha, Sreerag and Dileep are in the ratio 3 - 4 - 5 respectively. If the
salaries were decreased by 5%, 10% and 139 respectively due to Covid pandemic.
What will be the new ratio of their Salaries 7

A) 75: 82 :91 B) 57:72:87 C)65:78:88 D) 70:77:90
65— HE_?_E__:(:?"_ then x is
22 55 1
5 3 B 5
A) 6— B) 20— C) 68— D) 11—
) 55 ) = ) 55 ) =

In & village 50% of the people have car, 30% have two wheeler and 15% have both
car and two wheeler. What percentage of the people in the village has neither car
nor two wheeler 7

A} B0 B) 65 C) 40 D) 35

The difference between compound interast and simple interest on an amount of
maney in three years at the rate of 8% is Rs. 3,456. Then the principal amount is

A) Hs. 6,00,000 B) Rs. 500,000 C) Rs.3,50,000 D) Rs. 4,00,000

Two trains 240 m and 180 m long run at the speed of 200 km/hr and 160 km/hr
respectively in opposite direction on parallel tracks. Then time (in second) taken to
cross each other is

A) 5.4 B) 4 C) 5 D) 4.2

A work can be completed by 8 men or 12 women in 25 days. 10 men and 5 women
will complete the same work in
A) 15 days B) 12 days C) 20 days D) 10 days

Violume of cylinder and cone are in the ratio 25 18, their height are in the ratio
3 : 4. Then ratio of radii of base of cylinder and cone is
A)4:3 B) 5:86 C) 3:5 D)3:4

In a company there are 50 employees. One employee weighing 64 kg retired and
a new employee joined in the company. If the average weight is then increased by

250 gra:ms. what is the weight ;:f new employee 7 : -
74—k 73—k 12— —
A 2 g B) 5'd C) 2 kg D) ?EE kg

=4
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. 35 EResT Rgu oe. 66,4114 Snocinon dealo” 6% e g, 6% ouyd sdomen
et iy ol Snchienngy 9
A) ds. 68,427 B) dm. 74,200 C) dr. 74,889 D) or. 73,427

53. om, Lemiv S0 DO BE0 St edeaaEmng - 405 eamsgdy, dnenm
SEONT w000t 8 SenviE srbEmbann 5%, 10% w02) 13% s anany ==

Sedintd 2ex sy cRoEd ?
A) 75:82:91 B) 5F:T2:87 C) 65:78:88 D) 70:77:90
54, 6L 413272 4713 mmodxsany
11 22 55 110
5 3 & 5
A) B— B) 20— C) 6— D) 11—
) 55 ™ ) °% ) Mg

55. mabaironod 50% =St wo E!.lt-nii'.‘l-‘:h@ﬂ 30% waich 0,98 mm Zrobhmd
ey 15% e W o ﬂ‘ﬁg WEH woEts Brcbtmd, mma r\gﬁaﬂq
md:mﬁﬂ, 0, Emnd Heodon nad Jon Haﬁnm 5 7
A) ED B) 65 C) 40 D) 35

S6. 8% oood 3 mErnvd SsgEiponT died oY wa S od WA ARkaE WA
o, 3,456 th"‘id.‘ﬂld. et eruw de2sy)

A) odr. 600,000 B) d=. 5,00000 C) dr. 3,50,000 D) cr. 4,00,000

57. 240 Zoe =hal 180 Zoe eudd adm: Georih SERimesd Ter sheed Lo DATY
embgabmn Mokt 200 8,20t Thab 160 8.5, Sericig kg, ehg s3rieh oD
okl aﬂmﬁm msmm[ﬂmm ) o ?

A) 5.4 B) 4 €) 5 D) 4.2
56. 8 TYcheich wEkm 12 Shidahoes 25 HFMVY Furdpoch Yoartaduabmad, et

gemisin; 10 sdbwidy ey 5 Sbtudiesas ORMdS) Tpdr e

A) 15 Orish B) 12 oarsd C) 20 o= D) 10 Oarie:

59. Adomr 2 dReTE PEFO (volume)s) 25 : 16 ubmnandd egny <20 3 : 4
uﬁmﬁn‘ﬂﬁ Stheld Adedor wom; drer s 3w S e e:laﬁmai;i

A) 4:3 B) 5:6 C) 3:5 D) 3:4

60. somiclnoniod 50 tn:c'ir%nnﬁﬂmﬁ, 64 dzine mo 2o by sedinehcln AEEmbRE
oy Eaw Jl.-ﬂ.l" ch:d.mm Hﬂﬁ:ﬂ,aﬁ Py ﬂirw.'.«mil &2 Neod Sosd wdaiemw ma
mszﬁu m:r:dﬁ'. .,:-a:.'ﬁ B mﬂ.ra nmamn‘:?.ﬁ:-‘i

1 1 1
Td— Tad— 72— -
A) Elﬂ; B) Ehu C) Eku D) ?EEkg
A -15-
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61. 213, 314, 253, 327, |
A) 315 B) 425 C) 572 D) 514 '
62. Argentina : Buenos Aires - - Bhutan : ?
A) Thimbu B) Dhaka C) Kabul D} Manama
83. The miror image of a clock show a time 10 : 20. Then real time shown by the clock is
A) 1:20 B) 1:40 C) 2:40 D) 2:20
64. If August 1%, 1975 was Friday, then September 30, 1970 was
A) Friday B) Saturday
C) Thursday D) Wednesday
65. In a certain code, JOURNEY is written as VPKSOFZ. How is ACQUIRE written in
that code 7
A) BDRJSVF B) VJSFBDR
C) RDBVJSF D) JDRBSFvV

66. At the time 10 : 20 the hour hand and minute hand of a clock form an angle of
A) 180° B) 160° C) 130° D) 100°

67. Rajesh moved 30 km in the west and then he turned to his left and moved 20 km.
Then he tumed to his left and moved 30 km. After this he turned to his left and moved
40 km. How far is he from the starting point 7
A) 20 km B) 10 km C) 30 km D) 40 km

68. Find the odd man out :
18, 8, 561, 35, 73, 99, 201, 243.
A) 9 B) 99 C) 51 D) 35

69. Pointing to a person Raju said, “she is daughter of the only daughter of the mother
of my brother”. How Raju is related to the person he said 7

A) Sister B) Niece
C) Sister-in-law D) Aunt
70. Ualu&ﬂflﬂflﬂflﬂfl of 80840 is
i ik g |
A) 753 B) 758
C) 757 D) None of these

A 16-
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61. 213, 314, 253,327, ____

A) 315 B) 426 C) 572 D) 514
62, mram:u%mww:;mw:?
A) Bern B} % C) muno D) shmmas
63. nactndspond u':_f‘ﬁ. TadeEs 10 @ 200 :nﬂ::ﬂ:ﬁn:.l dreomsas. Thoid, necdnRos)
dpetmom mES ASOnR . =hd
Al 1:20 B) 1:40 C) 2:40 D) 2:20
B4, urhr:i_ 1, 1975 ﬁ:ﬁmdmfn%@ﬂ » BZsnT7 30, 1970 Sl +
A) SHm=o B) mRsmd
C) rbcemd D) wogsmd

65. ROFs Xodednd JOURNEY ooomsh VPKSOFZ wod wdchenhd. i Aedednd)
ACQUIRE aotoni St wdotheonrtad 9

A) BDRJSVF B) VJSFBDR
C) RDBVJSF D) JORBSFV
66. mbow10: 20 B8 riRciRTsRort ok Sov) wi Rasm S dneaa
Coamsds
A) 180° B) 160° C) 130° D) 100°

67. Todlerr Theog 30 &.20c. 38 gt S o 3bih 20 8.5, wmomE. s ahd B
izt 300N 30 &.20e. WORE . T Sosit o 37 SEndr 30hA40 o0 WiRhEE
B Bedk Nomfed eEmh o datodmd 9
A) 20 &.20e B) 10 &.2oe. C) 30 8.2 D) 40 #.20e.

68. TR doriAcD:
19, 8, 51, 35, 73, 99, 201, 243.
A) 9 B) 99 C) 51 D) 35

69, Tot Ly Sdold dnebma Sericamd, e e AEireriod Svotoch eeing FHaoh
AR nm:é_d' v, meh Zeecha FacdrcOr cows Eerl dowog Hrchthm ?

A) Rdmedo B) #esgd Aa%
C) «dr/mon D) Aerciod/ s - drash
g B vy el
—d—-d —_d = )
70. 908403 2, ¥ ST - Sy
A) 753 B) 758
C) 757 D) wa) cnaiin ey

A -17.
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71.

73.

4,

75,

76,

7.

They have spent _ for their son's wedding.
{Fill up the blanks choosing the right word.)

A) Many B} Enocugh
C) Any D) The little

. Choose the opposite word for subversion.
A) Destabilisation B} Clarity
C) Compliance D) Sanity

Mancy said, ‘I may leave tomormow™

{Report the sentence.)

A) Nancy said that she might leave the next day
B) MNancy said that she might leave tomorrow

C) Nancy asked if she should leave the next day
D) MNancy informed me to leave tomorrow

He is polite to everyone.

(Rewrite the sentence as a negative sentence without changing the meaning.)
A} He is not polite to everyone

B) He is impolite to everyone

C) He is never impolite to anyone

D) He is polite to anyone

It was the fight of the snake with mongoose.

(Fill up the blanks choosing the right word.)

A) Bad B) Worse

C) Worst D) Fine

You are an Indian. _____ ?

(Use the right question tag.)

A) Aren't you ? B) Don't you 7
C) lsn't you ? D) Couldn't you ?
Read the following sentence and complete.

Hardly had | entered the station the train left.
A} When B) Than
C) Then D) But

18-
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78. Brutus stabbed Ceaser,
(Begin the sentence starting with Ceaser.)
A) Ceaser was stabbed by Brutus
B) Ceaser is stabbed by Brutus
C) Ceaser were stabbed by Brutus
D) Ceaser is being stabbed by Brutus

79. lithegameisgood, | play it

(Fill up choosing the right option.)

A) Would have B} Would have been

C) Will be D) Wil
80. The children will leam from their mistake.

(Fill in the blanks choosing the right option. )

A} Incredibly B) Possibly

C) Apparently D} Surprisingly
B1. The aeroplane ___ atthe right time.

{Fill up choosing the right option. )

A) Lined up B) Took off

C) Stood by D) Brought out
B2. Thecat the mice.

(Fill up the blank choosing the right word.)

A) Eat B) Eats

C) Eating D) Eaten

83. There was traffic on the way.

(Choaose the right alternative.)
A) Hard B) Heawy
C) Thick D) Much

84. Frame a question to get the underlined as answer.
They lived here for long living.
A) How long did they live here 7
B) Where do they live 7
C) What do they live 7
D) When do they live 7
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85.

86.

ar7.

88.

89.

| was not unmindful of the fact.

(Pick out the phrase nearest in meaning.)

A) Had not forgotten : was aware of the fact
B) Was not careful about the fact

C) Forgot or was not aware of the fact

D) Were not aware of the fact

The corrupt officials had bribe.

{Choose the right option.)

A) Accepled B) Excepted
C) Exempted D) Exceeded
A government run by a dictator is termed as

{Choose the right alternative. )

A) Autocracy B) Democracy
C) Oligracy D) Theocracy
Bag and Baggage.

(Choose the right option to get the meaningful exprassion.)
A} All the clothing

B) Leave

C) Without any belonging

D) With all one’s belongings

He ~_in the States, but he still doesn’t have a command over the English
Language. (Fill up choosing the right alternative.)

A) Have been living

B) Has been living

C) Living

D) Have lived

Complete the following using appropriate phrasal verbs.
Theboywas by his uncle.

A) Put up

B) Brought up

C) Bought up

D) Took up
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91. g & Jod Dondre ded

A) oty » e B) o + et
C) acly® + voedess D) &y + el

92, ssfha s ;:tl:mt#..gL zearriaend.
Sl dheriee 2@ ...,
A) 92w mhorine ded B) Oemuin horlee drd
C) i dhoriee dexd D) =3 maorine 2axd

93. 'hod oow Jod sanmgry Ty oTsdal,
A) =2 B) &3 C) =2 D) &

94. 8 SUNIYrve rboart AeCOToTTR o L.
A) Reodr B) ot C) umz D) o

85. oo ThoeEng ST SANnT dnEo I QWO HrlomimotE,
B mdim'igquﬁﬂd oo ﬁmﬁﬁd prie=nial m‘cﬁmﬁimdﬁm&
A) Fdcded B) Znsd C) shedmord D) Zosd

)

96. ‘mal’ Do detnrodh B rbdhas Wi,
A) Sdirts B) tdr C) =z D) Agbr

97. 'tnoh’ 8 00 AoRemTr ToEas rothat.
A) elecd B) g C) dee D) DHrnege

98. & rriaml wan
52 Sodef vod ol mes 40 any,

A) oo B) #sorish C) @82 D) Srios Gexineb
99. v Redenn Borivld) RocdRTcis; rooaano.
A) Soalde B) mogdr C) wosios D) wowor
100. oo e o e aow BN erda ?
A) ZEedud @ednd ud B) #5p e gl
C) meo Zowm Zmb D) mosles #eed mhed s




